
 

 

Základní škola Zachar, Kroměříž, příspěvková organizace 

 

Pracovní list  
 
Předmět: Anglický jazyk 

Ročník: 6.B (Radka Hanáková) 
Opakování vzdělávacího celku: přítomný čas prostý x průběhový 
 
•   zapsat a naučit se slovíčka celé 2. lekce včetně Your project 

 

•   Revision 1  -   učebnice strana 29 cvičení 4 – písemně odpovědět na otázky do sešitu English, otázky se 

vztahují k textu na straně 28, cvičení 3 (četli jsme ve škole) 

      

       učebnice strana 29 cvičení 5 – písemně napsat 12 otázek k textu o Pilar Alvarez, 

inspirací mohou být otázky ve cvičení 4 (do sešitu English) 

 

 

•   pracovní list – přítomný čas prostý x průběhový – doplň slovesa ve správném tvaru 

 

 
a.) Who………is making……………..that terrible  noise? 

b.) Bobby……reads………………..a magazine every evening. 

c.) You can’t see Elsa now, she ………is having……………………a bath. 

d.) What ………do……….. you ………do………… in the evenings? 

e.) I usually…………drink………….tea but today I …am drinking………………..coffee. 

f.) We ………are waiting………for the shop to open .But it ……doesn’t open…….. till nine. 

g.) Mr. Jacoby often ………goes………..to the theatre but his wife ………doesn’t 

go………………..very often. He …likes………..all sorts of plays and Mrs. Jacoby  

……prefers………comedies. 

h.) She ………isn’t studying…………………….Spanish. 

i.) Gregory and Claire ………are having………………………..their lunch in the hotel room. 

j.) You ……look……………..like your sister. 

k.) He …………collects…………………stamps. 

l.) She and  her mates ………are going…………………on holiday. 

m.)  Where  …..are…….you     …………………going………..Patrick? 

n.) I ………am going…………………..to buy some cigarettes now.  

   

 

 
 
 
 



 
 

Look at the picture and write what the people are doing. (Podívej se na obrázek a 

napiš, co lidé dělají.) 

 

 

 

 1   Mike  _______is cleaning a window____________ 

 2   Mrs Green  _____is listening to the radio__________ 

 3   Grandmother  _____is drinking coffee_______ 

 4   Grandfather  ______is sleeping___________ 

 5   Mr Green __is reading a newspaper_________ 

 6   The girls  ______are playing with dolls___________ 

 7   The ducks  _______are swimming__________ 

 8   Simon ______is drinking water______________ 

 9Paul______is watering the plants______________ 

 10 The cat _____is climbing the tree___________ 

 11 The birds______are singing_________ 

 
 
 
 

 
 
 
 
 



 
Complete the text about Bob. Use the verbs in the box. Put them in the correct form. 

(Doplň text o Bobovi. Použij slovesa v rámečku. Dej je do správného tvaru.) 

  

   have            visit            play        go       play 

   go               live             like         live      learn           

 

 

 

This boy is Bob. He is eight years old. He ______lives_________ with his mum and dad 

in London, England. He ______has_________ a sister, too. Her name is Gloria. They 

_____live__________ in a big house near the centre. Bob ______goes_________ to 

school. He is in class 3. He _______likes________ his teachers. He _____learns________ 

very well. In his free time he ______plays_________ PC games and he 

_____goes__________ skiing in winter. He often ______visits_________ his friends. His 

friends ______play_________ football with him in the park. He is a happy boy.  

 
 
 
 
 
 

 
 
 
 
 
 



 

Complete the text with the correct verb form. Doplň text správným tvarem slovesa. 
 

 

This is Mrs White. She …is……… a primary school teacher. 

She ………………teaches……… English, Maths and Geography. 

At the moment, she ………is teaching…………………… Maths. 

She …………lives………………… in London and ………is………… 

married to Georges, who is French. They …………have…………………three children. They all 

…………love………………… animals, but they ………don’t have…………………… any pets because 

they …………live………………… in an apartment. Mrs White …………speaks……………French as 

well as English, but she ……………doesn’t teach………………it.  

===== 

Mrs White’s niece Sophie ………is staying……………with the Whites for a few days. Sophie 

…………lives…………………and ………studies……………… in Liverpool,  but she … is 

enjoying………………her mid-term break in London at the moment. She …………is 

planning…………………to do some serious shopping and sightseeing. 

===== 

Mrs White’s son Arnold …………doesn’t like……………… shopping, but 

he …………loves………………… hanging out with friends. They usually 

………go…………… to the local park where they 

………play……………… football or basketball.  

Today, however, Arnold …………isn’t playing…………………….….football or basketball; he 

……………is skateboarding………………... 

===== 

Mr White ……works…………… for a multinational company. He ………isn’t working……………… 

today, however, because he ……………isn’t feeling………………. well. He phoned in sick. 

 
 
Další materiály k tématu najdete v učebnici str.: 
Vypracoval: Radka Hanáková                                                      


